Exam III; F4360; Spring, 2004; 2:00 Class


Name ______________________________

Short-answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  When issuing common stock via a cash offering, the firm incurs several indirect costs.  One such cost is underpricing.  Briefly define underpricing.

2.  When stock is issued via a cash offering, who is the stock sold to?
3.  How do you earn a return on a zero-coupon bond?
4.  State one way in which the SEC (Securities and Exchange Commission) regulates the securities markets.

5.  Assume that a firm plans to use its 11% weighted average cost of capital in deciding whether to undertake project that is expected to earn 8%.  Under what conditions can the firm be confident it has made the correct decision?

6.  According to the Pecking Order Theory, what is a firm’s preferred sequence of funding?
7.  List two examples of bankruptcy costs that might stem from excessive debt.

8.  Modigliani and Miller show that under some very unrealistic assumptions, stockholders are indifferent to the firm’s capital structure.  One way they demonstrate this is to show how stockholders can create their own leverage to undo any action by the firm that reduces the firm’s leverage.  Briefly explain how stockholders could accomplish this.

9.  List two ways in which a loss of confidence in a firm due to excessive debt might lead to costs for a firm.
10.  What do the presence of indentures reveal about the relevance of a firm’s capital structure to its investors?
Problems/Essays

1.  In class, we discussed 3 methods for estimating the beta of a project the firm is considering undertaking.

a.  What are these three methods?

b.  Discuss the potential problems for the firm with each of these methods.

2.  Assume that the profitability of the average firm in the US falls and becomes more unpredictable.  Assume also that in an effort to stimulate the economy, the government cuts corporate tax rates but due to concerns about the deficit allows personal tax rates to rise (by not extending the Bush tax cuts).  Considering only tax issues, discuss and show graphically what should happened to a)  the overall level of corporate debt in the US economy, and b) the level of debt for a typical firm.

